EADA REPORT

The Report on Athletics Program Participation Rates and Financial Support Data

July 1, 2024- June 30, 2025 NCAA Division II

Number of Full-Time Undergraduates by Gender

	Number	Percent
Male full-time undergraduates	367	37%
Female full-time undergraduates	621	63%
Total full-time undergraduates	988	100%

Athletics Participation - Men's and Women's Teams

Basketball 32 30 Bowling 10 Cross Country 33 18 Field Hockey 18 Lacrosse 41 22 Soccer 51 48 Swimming 18 19 Track and Field (Indoor) 62 42 Track and Field (Outdoor) 63 41 Volleyball 22 12 Other Sports 8 322 268 Unduplicated Count of Participants 218 190	Varsity Teams	Men's Teams	Women's Teams
Cross Country 33 18 Field Hockey 18 Lacrosse 41 22 Soccer 51 48 Swimming 18 19 Track and Field (Indoor) 62 42 Track and Field (Outdoor) 63 41 Volleyball 22 12 Other Sports 8 Total Participants Mer's and Women's Teams 322 268 Unduplicated Count of Participants 320 100	Basketball	32	30
Field Hockey	Bowling		10
Lacrosse	Cross Country	33	18
41 22 Soccer 51 48 Swimming 18 19 Track and Field (Indoor) 62 42 Track and Field (Outdoor) 63 41 Volleyball 22 12 Other Sports 8 Total Participants Men's and Women's Teams 322 268 Unduplicated Count of Participants 320 320 Total Participants 320 Total Participants 320 320 Total Participants 320 Total Participants 320 320 Total Participants 320 Total Part	Field Hockey		18
Swimming 18 19 Track and Field (Indoor) 62 42 Track and Field (Outdoor) 63 41 Volleyball 22 12 Other Sports 8 8 Total Participants Men's and Women's Teams 322 268 Unduplicated Count of Participants 320 100	Lacrosse	41	22
Track and Field (Indoor) 62 42 Track and Field (Outdoor) 63 41 Volleyball 22 12 Other Sports 8 Total Participants Men's and Women's Teams 322 268	Soccer	51	48
Track and Field (Outdoor) 63 41 Volleyball 22 12 Other Sports 8 Total Participants Men's and Women's Teams 322 268 Unduplicated Count of Participants	Swimming	18	19
Volleyball 22 12 Other Sports 8 Total Participants Men's and Women's Teams 322 268 Unduplicated Count of Participants	Track and Field (Indoor)	62	42
Other Sports 8 Total Participants Men's and Women's Teams 322 268 Unduplicated Count of Participants	Track and Field (Outdoor)	63	41
Total Participants Men's and Women's Teams 322 Unduplicated Count of Participants	Volleyball	22	12
Unduplicated Count of Participants	Other Sports		8
Unduplicated Count of Participants	Total Participants Men's and Women's Teams	322	268
(This is a head count. If an individual participates on more than one team, count that individual only once on this line.)	(This is a head count. If an individual participates on more than one team, count that individual only once	218	190

*For each men's or women's team that includes opposite sex participants, specify the number of male and the number of female students on that team in this caveat box. This does not apply for coed teams.

*If you selected **Other Sports**, specify which team(s) are included.

*Additionally, provide any other clarifying information here.

TRIATHLON

EADA REPORT The Report on Athletics Program Participation Rates and Financial Support Data

Female Head Coaches

Head Coaches - Men's Teams

Male Head Coaches

Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	signed to Team on a ull-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Total Head Coaches
Basketball	1		1						1
Cross Country	1		1						1
Lacrosse		1		1					1
Soccer	1		1						1
Swimming						1	1		1
Track and Field (Indoor)		1	1						1
Track and Field (Outdoor)		1	1						1
Volleyball	1		1						1
Coaching Position Totals	4	3	6	1	0	1	1	0	8

Head Coaches - Women's Teams

		Male Hea	d Coaches			Female Head Coaches				
Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	on a	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Total Head Coaches	
Basketball	1		1						1	
Bowling						1		1	1	
Cross Country		1	1						1	
Field Hockey						1		1	1	
Lacrosse						1	1		1	
Soccer		1		1	1				1	
Swimming						1	1		1	
Track and Field (Indoor)		1	1						1	
Track and Field (Outdoor)		1	1						1	
Volleyball	1		1						1	
Other Sports		1		1	1				1	
Coaching Position Totals	2	5	5	2	2 0	4	2	2	11	

Assistant Coaches - Men's Teams

	Male Assistant Coaches						Female Assistant Coaches					
Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Total Assistant Coaches			
Basketball		5	1	4					5			
Cross Country		1		1		1		1	2			
Lacrosse		2		2					2			
Soccer		8	1	7					8			
Swimming		1		1		2		2	3			
Track and Field,Indoor		5		5	1	1	1	1	7			
Track and Field (Outdoor)		5		5	1	1	1	1	7			
Volleyball						2		2	2			
Coaching Position Totals	0	27	2	25	2	7	2	7	36			

Assistant Coaches - Women's Teams

		Male Assist	ant Coaches			Female Assistant Coaches				
Varsity Teams	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis	Full-Time Institution Employee	Part-Time Institution Employee or Volunteer	Assigned to Team on a Full-Time Basis	Assigned to Team on a Part-Time Basis		Part-Time Institution Employee or Volunteer	Total Assistant Coaches	
Basketball		2		2		2	2		4	
Bowling						1		1	1	
Cross Country		1		1		1		1	2	
Field Hockey						2		2	2	
Lacrosse		2		2		1		1	3	
Soccer		7		7		1		1	8	
Swimming		1		1		2		2	3	
Track and Field (Indoor)		5		5	1	1	1	1	7	
Track and Field (Outdoor)		5		5	1	1	1	1	7	
Volleyball						2		2	2	
Other Sports									0	
Coaching Position Totals	0	23	0	23	2	14	4	12	39	

Recruiting Expenses - Men's and Women's Teams

Recruiting Expenses - Men's and Women's Teams

worksheets screen instructions

Recruiting expenses are all expenses an institution incurs attributable to recruiting activities. This includes, but is not limited to, expenses for lodging, meals, telephone use, and transportation (including vehicles used for recruiting purposes) for both recruits and personnel engaged in recruiting, and other expenses for official and unofficial visits, and all other expenses related to recruiting. If you do not have any recruiting expenses to report, enter a 0.

Total 5,157 9,115 14,272		Men's Teams	Women's Teams	Total
	Total	5,157	9,115	14,272

CAVEAT

Operating (Game-Day) Expenses - Men's and Women's Teams

		Men's Teams			Women's Teams		
Varsity Teams	Participants	Operating Expenses per Participant	By Team	Participants	Operating Expenses per Participant	By Team	Total Operating Expenses
Basketball	32	1,253	40,095	30	1,839	55,170	95,265
Bowling				10	2,500	25,001	25,001
Cross Country	33	599	19,779	18	799	14,374	34,153
Field Hockey				18	1,474	26,527	26,527
Lacrosse	41	2,719	111,475	22	2,290	50,377	161,852
Soccer	51	1,934	98,642	48	1,098	52,712	151,354
Swimming	18	2,130	38,348	19	1,981	37,643	75,991
Track and Field (Indoor)	62	403	25,002	42	537	22,548	47,550
Track and Field (Outdoor)	63	397	25,003	41	550	22,548	47,551
Volleyball	22	3,200	70,397	12	3,300	39,602	109,999
Other Sports				8	1,436	11,484	11,484
Total Operating Expenses Men's and Women's Teams	322		428,741	268		357,986	786,727